FRBEEFREAFEREE WFHEHFHER ERRK

> A== - = 2 =
PRk 2 BEREFICONVT, TRROEBVITEL T,
iy =8 73
H *® 4 F 1E s N N
N NS i)
L A ] L i
Y 1| %= X % % LN E S SN T ) o
264 G B B X N 24 SN CoiRe) MR oy |2 ROME B -
\ % 77 i EPN- - C AN I N0 HE C o H
EE W © )
(3—-1) ()
B3 R E 490 113 113 1 2 10 80 282 2
e 534 210 210 12 5 29 184 94 -
ARy R 12,562 ik 75 7 16 234 3,440 8,771 17
JEAR A 5 p 2,778 47 43 7 3 78 332 2,304 7
59 - H IRIETS 490 33 31 26 4 13 60 352 2
(B&)
JEFEA, B, C, DOSLEIRLCB % (FiHD) SEROM e w [k
Lk ma % %
* s o e 2 wloomzele w s A | X 5
3 it # C-fleare) S| % 0 % 5l am ]| (o)
D5 blEEEOIBIAEFEOIBAEEO Bl (i)
- - - — 238 23.1 23.1 0.2 16.3| kg E
- - - - 79 39.3 39.3 2.2 34.5| T 3L B GE
- - - - 8,145 0.6 0.6 0.1 27.4| i BEE
- - - — 2,150 L7 1.5 0.3 12.0[ MEIARH
- - - - 293 6.7 6.3 5.3 12.2| 959 - B 1Az
1. &
K ¥ % 3{[*@ 5 PR b
- it g F [ OKE O (ERE) P YR -
koo : SR A T wCE L o e oo #
*) & Il ®
< e 2
(B&)
B 490 113 113 1 2 10 80 282 2
W E = 536 210 210 12 5 29 186 94 -
M H 13,700 83 81 8 16 267 3,689 9,615 22
JEAAR H 1,705 41 37 6 3 46 100 1,507 2
59 - £ (R SS 423 33 31 26 4 12 41 305 2
(B&)
- . R A I 2 2 L4 .
FEREA, B, C, DOOLRML TV DH  (#H8) o1 Do K E S erommer] s ke | R %
- — — - b2 | o |0 R | (R x N
PN o N e v E A R 4 (e Ei=b)) (TR N ~0 i s o % 3 7
at it | CH P R R ) [ (—MRrgrs) S| PR 28 o % 7, @ i & (%) ® (%) (%)
D5 blEEEOILNEEOIBANEEO |5 (F )
- - - - 238 23.1 23.1 0.2 16.3] 5 FE 5
- - - - 79 39.2 39.2 2.2 34.7) U BE
- - - - 8,962 0.6 0.6 0.1 26.9| 0By B E
- - - - 1,380 2.4 2.2 0.4 5.9| BAARHAH
- - - - 246 7.8 7.3 6.1 9.7) 53 H KT
Yix =] e
H | & 4 % iE A 2! Ea
P e =8
850 | [ %% ok | (&
S = 9 22
L | S
5 e P
264 0 g WA L1 I T CE
. " & i CIPNE B S0 HE T 0 H
% % ;ﬁ( (D)
ol s 281 72 72 - - 2 48 158 1
W b E 292 115 115 5 2 17 108 45 —
R E 8,330 43 41 5 12 166 2,388 5,704 12
JE AR B 1,709 29 27 4 2 55 235 1,379 5
999595 - S IR 59 290 18 17 13 2 10 39 206 2
(B&)




* 4 1E A N
JERA, B, C, DOILILIRLCOSH  (F38) R
4k 2 4 4l
P I A I LA R VNS 53 2P0 [y f”i X 7
B M | (o) | o) |0 g i i g m ]
2] ) BERFOIBIAEREDIL|ANEEDOI D (H8)
- - - - 133 2 - B R
- - - - 38 39.4 1.7 O R
- — — — 5,312 0.1 28.7| 0 MYy [ E
- - - - 1,298 0.2 13.8| R H
- - - - 175 4.5 13.4| 55 - H RIE T
(1)
2. %
K % 2 36 Wk ¥ e ) o
X N = i 71 B % Mﬂ Fild E A 3
- 7 ? “ ENE N o ﬁ‘&tl_'@ﬁ
A
(B&)
B3 RE 281 72 72 - — 158 1
3 REE 294 115 115 5 45 —
B 9,092 47 45 6 12 6,239 16
AR A A i 983 25 23 3 : 867 1
W99 B TS 252 18 17 13 183 2
(B&)
JEFEA, B, C, DOYLEIL T2 (FH8)
B 1 Ed RE n% i if fii o 15‘)} % %
o 5 t)mf:;ﬁzma/\ﬁwm»)/\fmﬁa;k (ﬁ,'}g) o) o)
- - - - 133 25. - 171 B3 R
- - - - 38 39.1 L7 37.4| R E
- - - - 5,833 0.5 0.1 28.4| iy B E
- - - - 800 2.5 0.3 5.6| MR H
- - - - 152 7.1 5.2 9.9| #i99- & (55
iy E N
*® 4 % iE i ! S
e Al RIS =B
[ 2 3% % ok ( R
LK X
; Kog Py RE-u o 3 W 2 1
264 A % K N s o UKo 71 B % Jii i PSR VRO \ E N
] . 43 G 5 27 LANE = o %ﬁﬁta)%
EE W |pEFEz
B < it 7
B K E 209 11 11 1 2 8 124 1
T H s R 242 95 95 7 3 12 49 -
0 ﬂ’a fiE & 4,232 34 34 2 4 68 3,067 5
A B 1,069 18 16 3 1 23 925 2
9995 - S RIS 200 15 14 13 2 3 146 -
(B&)
KA, B, C, DOYLAIRLCo%  (FiB) ¥
A Ko B R R R EBN ES o
3 i O PR )| (i) S Rl | (o) (%)
DS BlEFEOILINFEOILINEEOID M (#E)
— - - - 105 153 Bl pEE
B _ _ _ 41 314 R E
- - - - 2,833 24.9| iy kEE
- - - - 852 9.1 BARAM
- - - - 118 10.5 #5355 - & g5




H | & 4 % 1E S N N
(1)
3K
X ¥ % gﬂ%))\#ﬂ% B 5 g 2 36 e - .
- o & MOKF O (PR VAR S T4 VRV N
S i EERAEA W v & *‘J\+%’%J\i%"¢m%%®%%t®%
A B < % 2 (B) (©) (D)
(&)
B B E 209 41 41 1 2 8 32 124 1
T H b E 242 95 95 7 3 12 76 49 -
H R g 4,608 36 36 2 4 75 1,109 3,376 6
AR E H 722 16 14 3 1 16 45 640 1
e BERE N 1 15 14 13 2 3 16 122 -
(B&)
JEREA, B, C, DOYBLEIKL T2 (1548)
K% mlm e o wlE e o rlasmgen S )
W B ) [ (i) %W g i
o 5 blErEoI B AEEDIB|AEEDI Bl
- - - - - 105 19.6 19.6 0.5 15.3] W5 B H
- - - - - 41 39.3 39.3 2.9 314 W R E
- - - - - 3,129 0.8 0.8 0.0 24.1| o BE
- - - - - 580 2.2 1.9 0.4 6.2 AR EM
- - - - - 94 8.8 8.2 1.6 9.4 55+ & 53
A = 7
H| & & % 1E i 2! =
854 | [x %% oMk | (A
LA ] — —
265 k % - m | ol s Ko Wt PR | TEORE | mams | BEs | DG
= S (% ) (A& #®) w5 u Cal ) (H L H) (% F)
HMRXK¥TH~0 ) 480 177 20 8 - 13 262
. o 113 39 3 — — 7 64
% F K T b G 210 82 6 - - 2 120
R R il 1 - 2 - 2 72
JEARA B 41 31 4 4 - 2 6
99 - B RS 33 24 7 2 - - -
5 277 101 6 5 - 12 153
B3 R E 72 22 2 - - 7 41
ol 115 42 1 - - 2 70
O B 43 1 - 2 - 2 38
JE AR E 29 20 2 2 - 1 4
99 B IR 55 18 16 1 1 - - -
203 76 14 3 - 1 109
O % 41 17 1 — — — 23
ol 95 40 5 - - - 50
Y R E 34 - - - - - 34
JERASE 18 11 2 2 — 1 2
59 - H RIS 15 8 6 1 - - -
(1)
(5 B (H %R
i 480 177 20 8 - 13 262
O R 113 39 3 — — 7 64
T R 210 82 6 — — 2 120
o R E 83 1 — 2 — 2 78
TR A | 41 31 4 4 — 2 —
W59 - B S 33 24 7 2 — — —
277 101 6 5 - 12 153
B R 72 22 2 — — 7 41
T R 115 42 1 — — 2 70
R 47 1 — 2 — 2 42
B A A 25 20 2 2 - 1 =
W59 - B S 18 16 1 1 — — —
tz 203 76 14 3 - 1 109
o i i & 41 17 1 — — - 23
T R 95 40 5 — — - 50
xR E 36 - - - - - 36
3t NEREE] 16 11 2 2 — 1 -
W59 - B S 15 8 6 1 — — —




H | & 4 % 1E S N
855 | [ ¥ ok | (F&)
LA ]
268 [ /£ 20 ULk X5 VAR AL RiRY
DHEL DB 10,905 509 888 329
. s 238 5 42 5
F = A S T & 79 - 3 3
_ - i 8,145 342 608 111
HNPET. BT WA i i 2,150 158 232 80
. EEERE SN A 293 4 3 130
FEH ()
6,956 346 598 195
g o 133 2 32 2
i 4 o 38 - 2 3
A R E 5,312 234 421 61
T kA i 1,298 106 142 49
EEERE GINF A 175 4 1 0
4 3,949 163 290 134
B R E 105 3 10 3
TS R E 41 — 1 —
Pall E’J fe & 2,833 108 187 50
JRARAS 5 H 852 52 90 31
EBERE GINF A 118 - 2 50
(1)
X4y
&t 10,905 509 888 329
BB E 238 5 42 5
TS R E 79 — 3 3
R REE 8,962 373 677 118
A NEE ] 1,380 127 166 73
EBERE= 4N A3 246 4 = 130
E: 6,956 346 598 195
B R 133 2 32 2
W S R R 38 — 2 3
R REE 5,833 260 467 66
Y NEE ] 800 80 97 4“4
BB RE= 4N A3 152 4 - 80
% 3,949 163 290 134
B R 105 3 10 3
W R R 41 - 1 -
Al u/J i 3,129 113 210 52
Tk A i 580 47 69 29
EEERE gINF A 94 - = 50




x 4K F

)

[ % % % o ®

LS|

269 Wk % A b

T # %

| =R LIS
Y| b o

Il IR

IR IR

241

e MN
3 LeBoo

=R
_wE

e -2

iE !
=23
(7%)
;%ﬁé$ el BB e
N 2 i) - N
* AL I e w x Bl
W F
4,096 69 6 91
80 17 - -
184 4 - 1
3,440 38 3 82
332 10 2 4
60 - 1 4
2,818 47 5 80
48 15 - -
108 3 - 1
2,388 19 3 2
235 10 1 3
39 - 1 4
1,278 22 1 11 -
32 2 - -
76 1 - -
1,052 19 - 10 -
97 - 1 1
9395 - B 11 55 21 - - -
EREO A PE TRGEFH ) OPR
P 4 3
X 5y it | A Z O fh
[ ) (i
it 1,131 931 86 46
B R 14 12 - 1
W TR E 116 71 31 1
i B 928 793 49 34
AR A 1 117 43 3 -
EEE R LN 26 12 3 10
E] 857 703 8 37
BB 6 5 - 1
W TR E 80 54 1 —
M e 715 603 7 28
B NE 37 33 - -
EEE R LN 19 8 8
274 228 10 7 9
BB 8 7 - 1 -
W S B 36 17 3 5 1
A R E 213 190 7 1 6
JE AR A 10 10 - - -
UEBERE=gLNr A3 ] 7 4 2




Ay ZB 73
H | £ 4 % iE i ! Ea
856 | [ ¥ #% oMk | (IE)
LA ] p
. n B O I [ T < M PR i L P
269 Mk 2 Bk | o® s | e[RRI Tl i Elm g wle mle w s|iemimelE om0
T klnE |G W OE o Bl w %%%%m g O g oA A (DR N2
S W 9 K f [ A [ v i o
W & %% -
it 4,096 69 285 620 1,044 6 91 1 1,131 23 24 561 241
3 80 17 8 11 19 - - - 14 - - 9 2
W B B 186 4 28 5 20 - 1 - 118 - 1 8 1
B E 3,689 4 196 596 978 5 86 1 77 23 23 534 226
IR A 100 4 45 4 19 = = - 10 - = r 11
e RN ] 41 — 8 4 8 1 4 — 12 — — 3 1
] 2818 47 170 410 617 5 80 1 857 19 24 411 177
3 48 15 5 6 10 - - - 6 - - 5 1
WE P 110 3 8 4 8 — 1 — 82 — 1 2 1
g B 2,580 25 129 396 586 4 75 1 757 19 23 395 170
AR A i 55 4 25 2 8 = = - 5 - = 7 4
595 - B A 55 25 - 3 2 5 1 4 — 7 — — 2 1
% 1,278 22 115 210 427 1 il - 274 4 - 150 64
B B 32 3 5 9 — - — 8 — - 4 1
g 76 1 20 1 12 — — — 36 — - 6 -
MY R 1,109 19 67 200 392 1 11 — 220 4 - 139 56
AR A | 45 20 2 11 = = - 5 - - = 7
55 - B 1A 55 16 - 5 2 3 - - - 5 - - 1 -
EREONAEPE TR HHE | DR
O B MR|EE i B
X 5 g T[#H A [ ﬁﬁt?’;%%mﬁﬁ
e | FOEE FH
E 1,131 931 86 53 15 46
B3 REE 14 12 — - 1 1
T 3L R 118 73 31 7 6 1
M REE 977 829 52 44 8 44
AR A i 10 8 1 1 - —
995 B 2SS 12 9 2 1 - =
E:] 857 703 66 43 8 37
B3 REE 6 5 - - — 1
T 3L R E 82 56 21 4 1 —
B E 757 634 43 37 7 36
AR A iR 5 3 1 1 - -
LEBERE=2EN 5] 7 5 1 1 - =
274 228 20 10 7 9
& 8 7 - - 1 -
& 36 17 10 3 5 1
4 i 5E 220 195 9 7 1 8
[ A 5 5 - - - -
LEBERE=2EN 5] 5 4 1 - -




A El=] 7w
H | £ 4 % iE i 2! S
857 | [z %% oMk (7%)
VNGRS —
270 B ¥ W] Bt it 3, H¥ futd i W | e i | MREEE
Tk =5 S 4 . . . . . . .
e DD |aepiar| 2D s 2D larpmar| 20 lsepes| 2D larmae] 29 lsemas] 25 lwprpase| 25
iR iea [y R Bt LR B TR B TR B Tk [y LR Bk iz B
i 4006 204 92 3 3 - - - 32 11,062 58 4 - 19 -
. ﬁi [ 5= 80 2 - - - - - - - 10 - - - -
T B B E 184 38 1 - - - - - 1 - 124 34 - - - -
bl E/j [ 3,440 148 82 3 3 - - - 28 1 843 24 3 - 14 -
3NN 332 15 5 - - - - - 3 - 68 - 1 - 5 -
95 - B IR 60 1 4 - - - - - - - 17 - - - -
E:} 2818 153 80 3 3 - - - 29 - 787 47 3 - 13 -
B I E 18 2 - - — - — — - - 6 - - - - -
WE B R 108 28 1 - - - - - 1 - 80 28 - - - -
o R E 2,388 111 71 3 3 - - - 25 — 639 19 2 - 9 -
JEARA 235 u 4 - - - - - 3 - 50 - 1 - 4 -
G RERE G NS AT 39 1 4 - - - - - - - 12 - - - - -
}&c 1,278 51 12 - - - - - 3 1 27 1 1 - 6 -
i i fi 32 - - - - - — — - 4 - - - - -
T 5 FRE 76 10 - - - - - - - - 44 6 - - - -
bl E/j fiE 1,052 37 1 - - - - - 1 204 5 1 - 5 -
3NN 97 4 1 - - - - - - 18 - - - 1 -
P~ 2 (R 55 2t - - - - - - - - - 5 - - - -
(D5%)
i, o o s RIHEE, ERE, T, HH, 8
e |wes oo | emeg mwcz | JPES | B e | pi foH
* Planer] 22 lamen| 22 lmn] 22 lama] 2.2 lma] 25 fma] 25 lme] 25 lams] 25
? A | Y A | [ BA T WA [ BA T A
B 186 17 919 48 4 7 1 23 — 407 24 270 18 50 1
B B 3 - 17 - - - - - 1 - 9 - 5 - - -
W bR 1 - 13 10 3 - - 3 - 6 - 9 1 - -
A F% % 161 14 809 43 24 3 6 1 17 - 361 20 229 14 42 1
izt =] 19 3 68 5 5 - 1 - 2 - 30 4 24 2 6 -
55 - BRI 5% 2 - 12 - 2 - - - - - 1 - 3 1 2 -
5B 154 16 616 36 17 2 5 - 15 — 256 18 199 14 37 -
Bl 5L ok 2 - 9 - - - - - 1 - 2 - 4 - - -
T 5 R 1 - 6 - 3 - - - 2 - 3 - 4 - - -
Hn 9/3 f& & 133 13 545 34 1 2 4 - 11 - 229 14 171 12 30 -
JE AR B 16 3 50 2 3 - 1 — 1 - 21 4 18 1 6 -
59 - H RS 2 - 6 - - - - - - - 1 - 2 1 1 -
= 32 1 303 12 24 2 1 8 - 151 6 Yl 4 13 1
B rfa & 1 - 8 - - - - - - - 7 - 1 - - -
T % i - — 7 - 7 3 - - 1 - 3 - 5 1 - -
A FE e 28 1 264 9 13 1 2 1 6 - 132 6 58 2 12 1
JEA AR 1 3 - 18 3 2 - - - 1 - 9 - 6 1 - -
G BERE= 4N A3 ] - - 6 - 2 - - - - - - - 1 - 1 -
(23%)
e am CE P REWI | ABWIE |
B |y Ul | snmete | shotomiss | EEESOLO || #o5s ()
i 9D |aemra] 9D |armmad 95 |uimmad 9D |armma| 2B
LT Bk LT [ e st LT st LI Fa
L) 460 11 96 3 290 10 52 - 83
B I 19 1 3 1 10 2 1
TR G 8 1 4 2 1
w0y R 386 9 82 2 248 10 36 - 66
HE AR A B 43 1 6 25 - 10 - 1 155 1
W59 - & 53 4 - 4 - 3 - 2 - 4 - 36 1
L 221 7 70 2 213 5 36 - 64 3 1487 35
15 B 15 1 3 1 4 1 1 22 2
W RE 2 1 3 1 51
w0y R 179 5 57 1 188 5 28 - 53 3 1,281 31
AR A 22 1 6 - 16 - 5 - 8 - 112 1
W5 - S 53 3 - 3 - 2 - 1 - 2 - 21 1
S 239 4 26 1 77 5 16 - 19 — 658 7
B R 4 6 1 17
TR G 6 - - 1 - 1 - 1 - 42
w O B 207 4 25 1 60 5 8 - 13 - 541 7
AR A 21 - - - 9 - 5 - 3 - 13 -
W5 - S 53 1 - 1 - 1 1 - 2 - 15 -




A El] NS
H | £ 4 % iE iy 2! Ea
857 | [#x %% otk | (IE)
o ]
AR
S A e e 95 Ll 95 el 95 Lairasd 95 Lor ] 35 L] 55 s 55
n e [ BERRAT| g |BETRAT| gy | BLTGAT) [ BEAT] o gy [BE AT gy [BEMRAT] gy [T [
it 4006 204 92 3 3 - - - 32 11,062 58 - 19 -
B g E 80 2 - - - - - - - - 10 - - - -
T R 186 39 1 - - - - - 1 - 126 35 - - - -
O bR E 3,680 162 87 3 3 - - - 31 1 895 23 4 - 14 -
2N EE ] 100 = = - - - - - = - 20 - = - 5 -
LEEERE=gEN 5] 4 1 4 - - - - - - - 1 - - - - -
2818 153 80 3 3 - - - 29 - 787 47 3 - 13 -
50 P 18 2 = - - - - - - - 6 - - - - -
WEREBEE | w0 o2 1 - = = = o roo- & 2 - - - =
AR B E | 2580 121 75 3 3 - - - 28 - 684 18 3 - 9 -
B A 1 i 55 - = - - - - - = - 9 - = - 4 -
LEEERE=gEN 5] 25 1 4 - - - - - - - 6 - - - - -
1,278 51 12 - - - - - 3 1 275 11 1 - 6 -
B3 R E 32 - - - - - - - - - 1 - - - - -
B b 76 10 - - - - - - - - 44 6 - - - -
Y R E 1,109 41 12 - - - - - 1 211 5 1 - 5 -
N 45 = = - - - - - - - u - - - 1 -
LEEERE=gEN 5] 16 - - - - - - - - - 5 - - - -
(H3%)
R o 3 P RENE:, EHTHIE, (CIEES AR —E A%, B, FH
R e o | e v | SPEER | B8 | gt | SRR | B
= A 95 Lomen] 95 1ore ol 95 Lros] 95 Lorrose] 55 |or sl 55 siros 95 loomps| 55
wER B BT g RO g gy (B B e B A B REAT| g | BERAS AL
E 186 17 919 48 4 6 7 1 23 - 407 24 270 18 50 1
B3 3 17 - - - - - 1 - 9 - 5 - - -
5 B 1 - 13 - 10 3 - - 3 - 6 - 9 1 - -
A R E 174 17 868 48 26 3 6 1 18 - 390 24 250 16 46 1
IR 1 P 7 = 14 = 4 - 1 - 1 - 1 = 3 = 2 -
395 « B (R 55 L - 7 - L - - - - - 1 - 3 1 2 -
154 16 616 36 17 2 5 - 15 - 256 18 199 14 37 -
B 2 - 9 - - - - - 1 - 2 - 4 - - -
WE R 1 - 6 - 3 - - - 2 - 3 - 4 - - -
Y R E 145 16 591 36 12 2 4 - 12 - 249 18 188 13 34 -
et A B R 5 = 8 = 2 - 1 - = - 1 = 1 = 2 -
FEEERE guNrE} 1 - 2 - - - - - - - 1 - 2 1 1 -
& 32 1 303 12 24 4 2 1 8 - 151 6 7 4 13 1
B3 B 1 - 8 - - - - - - - 7 - 1 - - -
B B E - - 7 - 7 3 - - 1 - 3 - 5 1 - -
R R E 29 1 277 12 14 1 2 1 6 - 141 62 3 12 1
SRR A 2 - 6 = 2 - - - 1 - = - 2 = - -
ZBERE= g N0} - 5 — 1 - - - - - - - 1 - 1 -
(23%)
e rk we YRRy [ AT | oy .
g e | B |ty | SRS | REAOLO| 305 (FHE)
b IRCTN F, PRCTN , PRCTN F, PR P
BRI g B g Bk Ik # v ) PR iea
460 11 96 3 290 10 52 - 83 3 2145 42
& 19 1 3 1 10 - 2 - 1 - 39 2
& 8 - 1 - 4 - 2 - 1 - 9 -
L 409 10 89 2 265 10 39 - 5 3 1,944 39
B A 20 = 1 - 9 - 7 - 5 - 47 =
LEBERE=2EN 5] 1 - 2 - 2 - 2 - 1 - 21 1
221 7 70 2 213 5 36 - 64 3 1487 35
S 15 1 3 1 4 - 1 — 1 — 22 2
= 2 — 1 — 3 — 1 — — — 52 —
P 191 6 64 1 199 5 30 - 59 31,378 32
AR A 10 = 1 - 5 - 3 - 3 - 25 =
TS - B IR 3 - 1 - 2 1 - 1 - 10 1
Y 239 4 26 1 77 5 16 - 19 - 658 7
Bl R 1 - - - 6 - 1 - - - 17 -
B b 6 - - - 1 - 1 - 1 - 42 -
O R 218 4 25 1 66 5 9 - 16 - 566 7
IR R H 10 - - - 4 - 4 - 2 - 22 -
FEEERE= €N 0] 1 - 1 - = - 1 - = - in -




